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Instructions for the candidates :
1. GdemeT qur s i 1 37 €

Candidates are required to give their answers in their own words as far as
practicable,

2. @l v mftrd o7 R go siw qoitw FifRee s £
Mgures in the nght hand marygin indicate full marks.

3. V9 WA ¥ wAyEE e & fav ofed #1s Bz s sttt we far
T &

15 minutes of extra time have been allotled for the candidates to read the queslions
carefully.

4. ¥ g¥eY 3 @Vl § &, WVE-N & wvE-u)

This question paper is divided into two sections — Section-A and Section-B.
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5 WS- ¥ 48 axgfre gy &1 70 7 fewl a0 vt @ 3w 0 21 ARE F o
137 Friifea 1 af @ wiurdt a0® firs gt @ 3w 31 & A g 40 9 &
ST FT & qeAIFT &1 §7HT IAT IUTH FAR T OMR I-97F 4 U M0 76 g7
% Act/@ @i 97 @ vl Reed \t wr & gy / Aver aand / &8/ TG
T BT OMR F7-93F F wabr ww g &, =T OHEw T HOT G

In Section-A, there are 48 objective type questions; out of which any
40 questions are to be answered. If a candidate answers more than 40 questions,
then answers of first 40 questions will be evaluated only. Each question carries
1 mark. Darken the circle with blue / black ball pen against the correct option on
OMR Answer Sheet provided to you. Do not use whitener / liguid / blade / nail
etc. on OMR Answer Sheet; otherwise the result will be {nvalid.

6. WYS-& § 28 7Y Ity ayw &1 399 8wy i wew &, 7 WA TAIGA VA &
W@ 7wv da & &1 9w frag (W e, e araned e ) §
AR-R J¥A FT IT 3 ;1 GF & fow 2 siw Friifte &1 7% HOR® §0 @ §
6 319 IaetT w7 e o & fad @ 2 g i e #, 2 W9 TR TR &
T 2 9v7 Fiq faam & & sifv e 5 Ioa v & e 6 o, T
TR Gd e e dkt.s 3w Friifta &1 91w fraa (sifers s, warae o
va g faar) & vE-uaE g 7 a7 A Ifar &

In Section-B, there are 28 short answer type questions. Oul of these, eight
questions are from Physics, seven questions are from Chemistry and seven
questions are from Blology. Four questions are to be answered from each subject
(Physics, Chemistry and Blology). Lach question carries 2 marks. Apart from
these, there are 6 Long Answer type questions in which two questions each from
Physics, Chemistry and Biology are there. Long Answer type questions from
Physics carries 6 marks each, and from Chemistry and Blology carries § marks

each. Answer of one question each from Physics, Chemistry and Blology is
compulsory.

7. Gl 9PR & FeRgiE JUHIOT T 4 Qolear af &)

Use of any electronic appliances is strictly prohibited.
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YUY - F [ SECTION - A

awfa W / Objective Type Questions i
¥ WO 1% 487w awfre wyT &1 yoF @ Art a0 avAl w1 I 3 &1 W vy
& Wy ar frwew fro mo & frt @ U wt &1 oA @ 93 0 A9 feew wt oMr
iz ur fafgra w1 40x1=40

Question Nos. | to 48 are of objective type. Answer any 40 questions. Each question has
four options out of which only one is correct. You have to mark your selected option on

the OMR sheel. 40x ] =40

1. frefefea § § @ wa@ & sifwamie g § 2

(A)  Al7 (B) 2n
(C) Fe (D) Mg
Which of the following mctals is least rca'clcd ?

A} Al (B) 2Zn
(C) Fe (D) Mg

2. TEA @) | W g

A 67 B8] 8
€ 9 D) 11
The atomic nuinber of carbon 1s
A 6 B) 8
i 9 D) 11
3. T g A FEA-HE g & dr f-amy g €, 9 FEe €
(A) TR (B) UewRA-
© e X D) ¥ § FE TR

Unsaturated hydrocarbons having triple bonds in between carbon-carbon atoms

arc called

(A) Alkance (B) Alkynce
(C) Alkene (D) None of these
| 112 ]J [5012-J o) Page 3 of 20
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Y RN e e w0

A - on m -CHo
€} - coon o) »>CO
The formula of functional group of cthanol is
Ad - Ol (3) -CHO
€} - COOHNV i >CO
S o v w g o }
(A A (B) am 7 W
€ 8= /WR D)  Am-HL-
The 8.1, unit of the clectrical reaistivity is
(A} ohm (B) ohm/mgtre
(C)  volt/metre (D)  ohim-metre
o. F=fefan ¥ A o5 e = o o aeR
B R | ®®
(C) weid | D) W™
Which of the following is the best conductor of clectricity ?
(A)  Silver (B) -lron
(C) Nichrome (D) Rubber

7. fagd um & Jawm e w1 @ e e 2

@A) w2 (B) RIS
(€ rR () aK
Who discovered the magnetic effect of electric current ?
(A)  Faraday (B) Oecrsted
(C) Ampere (D) Bohr
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8 faga miex cirafam & @
(A)  UiTE FA @ faga w9 o @) Tt Fe ) faga S o
€ foga s ® e s 4 o) e s @ gt w7

Elecine motor converts

(A} mechanical energy into electrical energy
(B)  chemical energy into clectrical energy
(C)  clectrical encrgy into chemical cnergy

D)  clectrical energy into mechanical energy
9. 9% offam # ﬁnu@fmﬁ%mﬁham(w-m)ﬁﬁaﬁuhmm
® 3R faeife @ sn & A G B @ e et
A U F AR (B) @ ]
(€ 3niE 4oI Rl

When positively charged jparticle | alpha-particle) is projected towards west and
deflected towards north by a magnetic ficld, the direction of magnetic field

will be
(A)  toward south (B) towards cast
(C) downward (D) upward

10. € i 0 S faega gl ) A &, a8
(A) 220V W = urr g & B) 12V W e yrraet @
_C) 220V W UG YRR & (D) 12 V T St YR et &

The domestic supply of clectric current is
(A}  direct current at 220 V . (B) direct current at 12V
(C) alicrnating current at 220 V (D)  alternating currentat 12V
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' ; vt o BT WA & 7
1Y, M AR ura s & fan gn @ e A 3wt fegy fzan 71 T T X

(A I oar fra~ : (B) el A kel

(€)  mm fq D) ¥ # wg

In which day a solar water heater cannot be used to get h_ot water ?
(Al A sunny day (B) A cloudy day

(Cl A hot day (D)  Nonc of these

12 s R @ el e e /) s & ogem w6 R

(A} A F ®) Yad FAl
(] avEE FAl D) Eorir i
Which of the following is not di.:ri':cd from the solar cncrgy?
{A) Geothermal energy (B) Wind cnergy
(€] Nuclear energy (D) Biomoss
13, T & wne fad W g W Rad g g W g dd @ d 98 Fu e
A S e \ (B) ¥Ed 3FAA
() FIGIEA (D) T A TEE 39 Iaed

If the imagce of an object is always erect for any distance of the object in front of
the mirror, then the mirror is

(A) only planc : (B) only concave
(C)  only convex (D)  cither planc or convex

14, Tl @ @ s | Wy gdn FrfefEa d @ o @ g 2

(A)  #adad g (B) I TS

(C)  THAEE 207 (D) WHae T I g4l
Which of the following is the mirror used in the headlight of a car ?
(A)  Concave mirror (B) Convex mirror

(C)  Plane mirror - (D)  Planc or convex mirror
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15, foafabes 4 3@t HEAarE . s v 7

(A) A Dy

(B) T
© D
Which of the following has the highest refractive index ?
(A} Air (B) lce
(C)  Glass (D) Diamond

16, farferlaa | @ fam dw @ sfvar dn wet §

(A) I @R (B) A AW
(C) IAA Ud ¥adA FR T (D) AREEA T

Which of the following lenses is called converging lens ?
(A) Convex lens (B) Concavcllens

(C}  Both convex und concave lens (D) Bifocal lens,
17, fa=fatga 0 @9 2ggferd & o

W FES (B) W

S T (D)~ FgaA
Which of the following is bisexual ?
(A) Earthworm (B) Frog
(C) Fish (D)  Tortoise

18, 7% A g9y  fed fam dnd w2

(A) M - (B EE

© o =m

Which plant is sclected by Mendel for his experiments ?

(A) Mango ] . (B) Rose

(C)  Whecat ’ (D)  Pea
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19, T3 4w i o § 7

W W 8 ¥

) &M D) ‘IQE‘“'/
Which onc of the following is a vestigial organ ?

(A} Backbone (B) Thumb

(C]  Ear (D)  Apendix

20. ‘Tavw v’ femd wifem § o

A T WS B) TR HERW
) # e (D) qERI™
‘Chipko movement' is related to
(A} forest conscrvation (B) _ sail'conservation
(C)  water conservation {DY " “aflorcstation

21 Fpafafea d @ o dpwsm@ g mom b 2

A % B) wuwv

C) uevw (D) ':'./
Which of the following is the magnification ( m ) of a lens ?
W= ® uv

€) wuev © =

22. frafefea d @ e & oim sme d 2

Ay wim ® s
) sfef@m @) g
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Which of the following is the colourcd portion of an cyc ?

(A) Cormea (B) Retina
(C) Iris (D) Pupil
23, UHSH § WER & fow ao) @y sfua g X o
A #®™ B) e
(€ g (D) i
Light of which colour scatters more in atomsphere ?
(A)  Red (B) Blue
(€)  Yellow (D)  Orange
24. VR F W we & wmw @ wf awafaw qERe @ @mm 2 e @ fan S
TN & 2
A}  TEda (B) AN A ¥
(C) (D), CRRERA STadR W W 2T

The sun is visible to us aboui2 ‘minutes*before the actual sunrise due to which
phenomenon of light 2

(A) Rellection

(B)  Awmosphcric refraction

(C) Scallering

(D]  Both atmospheric refraction and scattering

25. I aEd Faw & R awl & o fefefea 9 fEws smEd wem
g € 2

(A) T FHTAI & (B) U] HEAN Fv
(C) UTHN] &R & D) TAEH
According to modern periodic law, propertics of elements are a periodic function
of their
(A)  Atomic masscs (B)  Atomic numbers
(C)  Atomic size (D)  Density
[ 112 ]J [5012-J o Page 9 of 20
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2. Iy s w7 e went Frefefan 3 w0 wEE) € 2

A I B ®FF
(€ ®m D) ¥ /T
The horizontal rows of modern periodic table are known as which of the
following ? '
(A} Periods (B}  Groups
(C)  Shells (D)  Nonc of these
7. R E W AR & o § Ton & ol e o @ e fafy v R 2
(A) U FE (B) T HME
€ =% & ya e D) T AT
Which of the following methods is suitable for preveatingan iron frying pan
from rusting ?
(A} Applying greasc (B~ SApplying paint
(C)  Applying a coating of zine (D) All of these
28.  Feafefaa o few ur @ 9 Ramer @ @ o wwa k2
(A) Al AB) Nav
(C) Mg (D} Cu
Which of the following mctals can casily be cut with a knife ?
(A} Al (B) Na
€ Mg (D) Cu

29 Fefdfmaddsmw FEo Fighm et zad 2

A Cl, (B) SO,
AC)  CO, -~ (D) O,
Which of the following gases turns lime water milky ?
(A) I, (B) SO,
(€) €O, (D) O

2
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30 o sne frafafaa F @ et o A & 2

(A) TR (B) €A
© fam D) vEEt—
Tartanc acid is found in which onc of the following ?
(A) Tomato (B) Orange
(C) Vinegar (D) Tamarind
31 famm w veefs qak
(Al CaSO,.31,0~ {B} CaS0,.2H,0
€] CaSO,.10H,0 (D) ¥ R @I
The chemical formula of Gypsum is
A} CaSO,.1H0 (B) CaSO,.2H;Q
(C) CaS0,. 101120 (D)  Noneof thesc
32 o A wegiE A F @ SRGEELR FETeTEd 3 @ B 6 Feed ¥ 2
A 0, B) CO,v
©r H, (D) N,
Which of the lollowing is evolved when zinc reacts with sulphuric acid ?
(A) O, (B) €O,
(€ H, (D) N,

33 FEEAE FH A FF-WATEAE ?
W (B) WY

(©) @ (D) T
Which discasc is caused by the deficiency of iodine ?
(A} Gontre (B) Diabetes
(C)  Scurvy ' (D) AIDS
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AR R A R frzsgzd) ife @ Fraeret aren aeia & 7
W gl i L) A
) §lem D) wEEEs

Which one of the following is o hormone scereted by pituitary gland ?

Al Growth hormone (B)  Thyroxinc

(€} Insulin (D)  Androgen

35 I N st ser fag iy FITm 2

(A} EFEAA B fads
(€)  aANEE (D) T A @i

Which method of nsexual reproduction occurs in amocha ?

(A} Budding (B}  Eission

(C}  Sporulation (B} § Al of these
36, EF W FA-T UN B 1 5@ §)

() EIR (B) TFEIMW
el Hsrm (D) A

Which part of a flower changes into fruit ?

(A) Stamen (B) Carpel

(C) Ovary, (D) Ovule

37. WM& ge i 42 w6 9 T @ @ frifm s o

[f/“ ZT FHITET~ B) WS FivErm
(C) A Al O) & W

Opening und closing of stomata is controlled by

(A)  puard cells (B)  companion cells
(C) sicve tubes (D) root hair
I 112 ] J [5012-J o Page 12 of 20
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18 P8R WA e @ e o frres v R
(A A By AW
(C) T™HEAU D) frem
Which one of the following is structural and functional unit of kidney ?
(A} Ncuron (B) Nephron
(C)] Glomcrulus (D)  Ventricle
39. WEE w Sy 3o o fifsa d @R g 2 |
w gl B T
-
(€ I U (D) =Y
Main cxcretory organ of human beings in the following.is
(A)  kidney (B) ¢~blood
(C) sweat gland ' (Dy"  pancreas
40 UgFA®E D
(A) T e EEE S @) @ fom gmA
(€) s 1@ (o) FIEEN
What i1s Androgen ?
(A) Male sex hormone (B) Female sex hormone
(C)  Digestive juice (D)  All of these |
41, & fF stfrm & qag fea w3 9 s i gfe gt g, o Fefdtea § @
F21 FF1 A& ?
(A) 9994 (B) HAUAG4_~
() dErm | (D) @ FE T
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If u substance gains oxygen during # reaction, then 1118 kno

following ?
(A}~ Oxidation (B)  Reduction
(C)  Corrosion ip)  Nonc of these

42, U8 @1 p)y A R R
A 7dwm a7

iy 7 D) 14

The pH vadue of an acid is

(Al lessthan 7 () more than 7
c 7 D) 14
a3 Ul @ @ w e g R
(A} Na,CO, (B) NaJCOJ.ZHEO
A€l Na,CO, AOH,0 7 B], " Na,CO, 5H,0.

The molecular formulafof washing soda is

(A} Na,CO| (B) Na,CO,2H,0
(C) Na,CO,.10H,0 (D) Na,CO,.5H,0

44, rwﬁmﬁmwmmt.mwﬁ@ﬂmwmﬁ?ﬂh“

e R
@A) weaRE e v Br T W
©) felgw wa D) FFAEE A
Bee-sting lcaves an acid which causes pain and irntation. The acid is
(A)  Mecthanoic acid (B)  Ethanoic acid
(C) Citric acid (D)  Oxalic acid
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el 3N s &9 g b o

45
(A} TR g B) #v g0
DU Gl L e (o) ¥p I
lHow docs amoeba catch its food ?
(A) By tentacles (B) By tonguc
(C) By pscudopodia (D) By mouth
a6 FA-T CART 7@ T fra wra § 7
(A) @i (B) ﬁ,qfﬁ
C) E’TA (D) UARAA
Which cnzyme acts upon fat ?
‘(A)  Pepsin (B} Trypsin
(C) Lypase (D) .Amylase
47 [0 TR & wwa } Hfes wol gw P g o
AN arrim (B) FaEIm
(C) (A) T (B) THI (D) V9 Ft @
Which type of respiration rclcases more encrgy ?
(A)  Acrobic (B)  Anaerobic
(C) Both (A) and (B) (D} None of these
48. VB @ GG ¢
W g - - ;. e
) @@ D)
Respiratory organ of fish is
(A) tracheca (B) gils
(C) skin (D) lungs
[112]J [5012-J 2o ?ﬂ&ﬂ_l-"’ﬁfi’o
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WY - W / SECTION - B
v Wi / physics
Y IFHIT W / Short Answor Type Questions

mm!“ﬂﬂwwﬁmmaw4m¢mﬂmm*ﬁw

23% Faffiz #; 4 x 2! 8
' ons. E stion
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each que
: i
cames 2 marks. . 1x2

WR A W 150 FAE @) F9 ) @ § g g k1 F A G690 H T
el & 2 Fraf o et 9 9067 31 108 mys B 2

Light enters from air to glass having refractive index 150, What is the speed of
light in the glass ? The speed of light in vacuum is 3 x 105-m/s, .
3T 7 & oF W Rud wq & i w3 = forg ) Fror 3w G 2

<
Druw a ray diagram to show i image formanen of an object placed at 2F of a
convex lens.

3. &mqmm%mwmmmmﬁran 2
Draw a labelled ray diagram 1o show the refraction of light through prism.

3. ol siafess ant =1 s At ) avtem wen =t vk A & 2 2
Why does the sky ﬁppcur dark instead of blue 10 an astronaut ?

s. mqﬁswmq_hfaqa}hwﬂmﬁﬁfaﬁmhwmmmﬁm
FEl €1 2
Nanmie the device that helps 10 maintain a potential difference across the ends of
a conduclor.

6 Fou w5 ciqgai & Frer s wﬁmﬁﬁmm’i&mm% 22
Why is tungsten uscd almost exclusively for filament of clectric lamp ?
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fa 1 @ gt b ) 5

State the principle of an clectric motor.

|

Wnite the names two CNErRY BOUrcen

- ¥t awite wrr / Long Answer Type Questions
A WO 9 A 108 Fvte v §1 g @ vt o o T 1 R A & F
6 3% Fraifea 1 | 1x6=6

Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. Each
question cames 6 marks, ] x6=6

o P dn b v E o v s § 2 g done @ a8 w
pitac ol 6
What is short sightedncss [m)'u.pia] ? What arciila causes ? Explain the method
of removing this defeet with diagram.
10. W & fow o | s g e o wam & oA w4 6
Writc Ohm's luw. Explain an cxperiment for its verification.
| THIGA TT¥A /| Chemistry
WY IWY W / Short Answer Type Questions
¥ FEm 11 @ 17 7% 7Y W §1 P R O o el & T 1w & g
2 3w Fraifea 4x2=8

Question Nos. 1) to 17 are Short Answer Type. Answer any 4 questions. Each question

cames 2 marks. 1x2=8
1. faummqﬂ&famqwaﬁﬁma‘iﬁﬂaﬁtt ? 7 afufrmad & wnteto
feafu | 2

What is the dilference between displacement and double displacement
reactions ? Write cquations for these reactions.
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12,

38,

Pt s 3 et i e e e ¢ 1 %4
o) WiRan wee dftan weng & g s w0
b Ffewm aRgRRE w RateRs @ w iR A K

Write balunced chemical equation for the reaction taking place when —
4] Sodium sulphate reacts with Barium chloride

b) Calcium hydroxide reacts with Carbon dioxide.
VT & W s w afvfen i3 w ammm: #Aea Yo e & 2 0 T
% W GOy | 2

Which gas is usuolly liberated when an acid reacts with agmeral ? lllustrate with
an example.

14 &N AR & gg & & for g mipgaane @ 3wai fa A 8, I6E AW
ferd 2
Name the soditm compound which is used for softening hard water.

15, AR 34§ 2 2
What is Anodising ?

16, 9% &) WA HAR & e v Tem A wn dm ¢ ) aiviEm @ aantE
wHrEm fomg 2
What happens when zine is placed in iron sulphate solution ? Write the
chemical equation of the reaction.

17, WWWWHWWWI 2
Write the structural formulac of bromopropane and propanonc.
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¥4
Wit Long Answer Type Questions

oA NS 18 03 loﬁdmtiﬁﬁwwmmhmm*ﬁ?
s ¥ fuifia ) Ix5=5
Questio

I‘g Ansm-' Ty’)c. An’u’c' ﬂ!‘ly oneg Of' € v ‘U . “
mI':t .i 5 ”-ﬂlu' '

I «5=5
R RO (112 e e ? Tk @R #) fafu, o od g @ frdn s

What 1s the chemical name of baking sodn ? Writc its preparation, propertics
and uses,

19, Foot v T et § 9 sk ) e 31 oo g & A Tt o A s

What arc alloys ? Give its two cxamples. Explain three uses of alloys.

Sta fawer / Biology
oY ITAT WY/ GHor Answer Type Questions

T M 208 26 7% WY TN §1 7 & AT 4wl & I 1 91w 09 & forw

2 3% Praffer 1 4x2=8

Question Nos. 20 to 26 are Short Answer Type. Answer any 4 questions. Each question
carries 2 marks,

4x2=8
20. W Gy /1 € 2 @ e & v anilan fad 2
What is photosynthesis ? Wnte chemical equation of this process.
21, daEgmrETe w4 2 2
What is oxyhacmoglobin ?
22, O 3 FEACH H AWK 2 3

What arc the differences between xylem and phloem ?
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23 wAa ¥ R own onpd b 3w d ”

What do you mean by homologous organs ? Give examples.
24, mzﬁmnmt?qmm’mmm“mﬂ“t' 2

What is [ood chain ? Give an example of terrestnal food chain.
5. Mm% vy ko 2

What arc the strategies of water conservation ?

26 1 % o wnd el . 2

Write two lunctiona of blood.

fid 37T 9% / Long Answer Type Questions

Uy Woar 27w 28 Oid yaie §1 pad @ fedt ow w1 Tar & oRiw g & R

s 3w fraifta & Ix5=8

Question Nox. 27 and 28 are Long Answer Type. Arnswer any one of them. Each question

cames S marks. " I~«5=5

27w & fwi fafe woaeh w1 5
Explain the method of urine formation in human beings.

28, WAT & TW WA A W i fay g 5

Draw a labelicd diagram of female reproductive system of human beings.

faere /' & =dfea waft et

BSEBResult.In
faffe w2
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